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The Water Balance Analysis of Midlatitude Squall Lines
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The water balance of midlatitude squall lines is investigated using idealized two-dimensional cloud model. In
order to examine the influence of environmental condition, various profiles of vertical wind shear and low-level
humidity are tested in numerical simulation. The structure of squall lines is quantitatively classified into Upshear,
Erect and Downshear tilting with cold-pool intensity and wind shear. The water balance is constituted of
condensation, evaporation, rainfall and suspended terms. The changes of water balance in Upshear and Erect
suggested that condensation terms are almost same values in both and evaporation (especially evaporation of cloud

water) terms are more values in Upshear than in Erect.
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Fig.1 £=5-6h T L 7= Z/KZFIk. Upshear ##
(L), Erect #i&E(T).





